


—20"

+30

NC k]

10

120

Vil






EQ conhecdn | quaea owlor das noemais ?

da
® B

VP

A ZM=0: P4-N,4-N,-3=0
4N4+3N2= 4P



S = 3/5
s A =4/5




4 +3 _‘LN) 4P

?‘—‘—No‘ 4°
o
= =367
A A
6w‘ﬂl\d0 QV@ o 8‘2& MSU((‘SOQJC‘OJQQ

¢ omposie dv 2 maltials Guals € s, ?




EAg= CEA = Eche+Eahg
1

EAq = 2‘”-‘0“- _‘E(O‘lza QOSS +100.l0. T, 0,082
4 4

EAg= ATl + {1‘611'.408
EAq= 1068, 14 MN

Qtjmm@ Mo Xima
ésa U E~ S
E: (o
E-2000 T -l
20 .l ® ot

oéao g- min/C&, €)= 0°



< N, < Eﬂqg
N, < 1063, 4 10 40"
Nl < ‘%ﬁ,“i h\'

647 < 10684
U

~ | PS1518,5 AV




